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SECTION B : Writing Skills

Que: T ; AT FAATRLH_ (STTIIH TR )
SECTION C : Applied Grammar

T Us: o qfed-TaaiegTy (afed-sTaaiad)

SECTION D : Reading Comprehension

139 :

Instructions :
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(it)

(i11)

(iv)

ST Jo797 TER: GUET: Tl |
59 Y97-97 4 91 @IS & |

The question paper has four sections.

S GUSH ST I THIGHT T HHT GG |
Yo% @UE % I U &1 T T HH d I § |

The answers to each section must be written at one place.

JITGEI] FITTAJIRE STeTRT AGH T |
J97-9F @ SJAR Fo7-T&7 7G99 &1 fera g |

Write the question number according to the question paper.

GV oI IV Gegpa= G |
Tyt o7l & I qEpd 1718 |

Answer all the questions in Sanskrit.
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52

@us: < (SECTION A)
AT (SAfSarr-sraaie)

Unseen Reading Comprehension 10 3T

FUNTARII ST dfScal TEAITATH IV HEehald for@d |
frfafiea sTg=sg 1 Tgeht feU U wodi o W H&hd # fofen |

Read the following prose passage and write the answer of the given
questions in Sanskrit.

e Ae-fopme W wgw | Wien s Afas =it =
T ureafa | e arepfahi gfseny Igateafa | adam-fen-ugd Seshe
gatgior-faepreea aishedn afed | g arern: g fawae il sieq
i@ g@ed | 3w & fogmm, wftaw, omed, sfoemm,  stefmew,
Toifoemem, Gfiay, SIS, (computer) 3TEd: | IdWH-fIET-UgdY
forfegan: Faeht: Jacava HfsH W Feal T & We@UY HThed Iedad: |
arqua fyern ye wewemty freafa | frfear: gaeen: Ametemom wfa stk
vafed | 3TEaTeh <1 foren ureed wisfu arer: wifv srer @ sterfure F syad sfd
IMEH A | 3Id: 1eqr 7 et THashedTon e SIfug a1 wseiiE iy
@ |

q9-T:

(31) e T | (heed JTTEGSTH)
T 36 H I T | (hadt IR T9)

Answer in one word. (Only four questions) éx4=2

() Tien e e et 2

(i) AHA-ToehT e | d1e fore ?

(i) e <higeft gfeen Igaigata ?

(iv) TRTeFaT: Jaehl: M TUIMH Jid SATRNAT: Wat—d ?

(v) STThed Falg Vel H qHehedHT A ?

3 P.T.O.
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UIATERA 3T | (had TegIH)
Ul e B IR T | (Shad @ Ie)
Answer in a complete sentence. (Only two questions)
(i) Toren hgw fawm qureafd ?
(i) mEd foh sRIaa 2
(iii) IAH-TTeT-ugat sTeteh: i fawam afu e 2
AT ITA | (had TeT=geesd)
fgemganr 3T T | (haet =’ )
Answer according to instructions. (Only four questions)
(%) ‘wifed’ 3fa foramuee shqug fom 2
() fen
(i)  9ehedHT
(iii) STeToh:
(@) ‘foferar’ sfa fomoree faererg g ggeay 2
(i) STl
(i) gdpl:
(i) SR

Ix2=2

Ix4=4

(M) ‘@ TsgiEE AU mEEn 3fd e G 3 gemee. e

SIFAH 7
()
) T
(i) gaed
(7) em: 39 foh qafEdeH 31 TgEd ?
(i) fowme
(i) FH:
(iii) =TRER
(¥) ‘T s foh foetmugy o= wged ?
i) 3
(ii) foepry
(iii) HfSH
I AT hd IUYh IT¥eh &R o7 @d |
TH TS o (oY IUFh 3o Hepa ° forfay |

Write the appropriate title for this passage in Sanskrit.

4
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wQus: @ (SECTION B)
TEATCHERERTEH (TEATeHe-3T )
Writing Skills 15 A

i ufa s1efeifad o AesuTveTRmee: QR 4: fo@q |

i =1 fore T Frfetfiad o 1 Heen W fou 71 Sreg) hi FEraT 9 U RO
faflay |

Complete the following letter, written to your friend, with the help of the

words given in the box and rewrite the same. éx 10=5

TR ISTATSTET

fem:
ERREFRIECH
1) |
3 IS ARG | I (i) TSI S 3Ty |
3: facred @ TE IR S | AN a¥ WY TUAeACaEe
SRR 9 (iii) | T fouTee B USHY
(iv) __ TCNAH AFEd | 3 TREHEH (v)
I | BEATN TS AN & (vi) RIESEY
IHUG | WU HITAMT WEhANGIAT,  fafemauit  aitgeaTt,
(vii) T oAl g AT A | (viii)
SCATEEAET: T a9 IO 9 | (ix) oAl |
Had:
(x) TR |

HesH

Te:, fUadl, Twed, "W, e, TSuem, @i, Ao,
A CTETIRIES, TqEEsaTas: |

5 P.T.O.
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NY: e Toe 5 Hos[U SGTRIeeHl 9 Usd aaT+ §ha fo@d |

= fou e o o1 vl e fou T Seel i wEmar @ e Hhd e §

HIT |
Describe the following picture in five Sanskrit sentences with the help of
the words given in the box below. 2x5=10

gefT: , ShISEH, 31Y:, SIS, qidl, |, #l, g, R, S, i,
ST, B9, e, Hd:, A== |

AAAT (OR)

Ho[uTIGaRIeqHl Hrared FHefdiad fowem siiieshcy usai: Swhadmed: T
TR fored |

weaT § fou U wedl S werran & frafaRaa v w ute gend ol # w
3Tg=ag fafen |

Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box. 2x5=10

“rregamn: wgwm
A

ooy, TEeadrEl:, IR, ILw, SUAAM, T, RS, JeTesy,
ST, WTEEH, A8 JE=a1, THS TV, Jeel, Haedy |
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Qus: T (SECTION C)
FTTFFAATHIUH (AT SATHIT)
Applied Grammar 25 A
sreifafaqary WETfgquey af- afesd o1 Fean foad | (Faet TRAagseH)
frfafga Il #§ t@ifea oei # | sgar afufassg #eh fafey |

(had =R T¥H)
Write the underlined words of the following sentences after joining or
disjoining Sandhi’s. (Only four questions) 1x4=4

() 35 fouma ot + o afe |

(i) S + T ai @ |

(iii) B + o |

(iv) JcIhy ST afy: udTE: |

(v) Tehal UV JfAfBt: a4 ey |

AdifafaqearRy W@ifgarer woE fapg a1 weafasweus: foean fo@a |
(haet ITAIISIH )

e amet o Y@iferd uel 1 gume stuan faug fou T fasweni & @ ga

foafau | (haa =) 9H)

Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences. (Only four questions) 1x4=4

(%) ol 9 9 T J&TT HISH e |
()  rforTe
(i) ~ GTroTaTEH
(iii) roflaTey |
(@) SWEH 3@ HIN: w9 |
(i) T g,
(i) TEEM T
(iii) g HHiy
v P.T.O.
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(%)

i 3Tagq Y iy 3Ty I+ 4: fassfd |

() i
(i) iRy
(iii) I |

ER) ﬁﬁﬁvﬁsﬂﬁ |
(i) foes s1ama:
(i) ToreAmm SrvmE:
(iii) ToreATq s1vma: |
I 7 ST |

(i) Rd fomm

(i) dd Ug

(iii) e |

AGTANGAATRY  @Igadeql  Thid-Jdt darsg fawsa a1 3feam I

o o o e
ferehe s Tefcal ToTEd | (hael IReIdseaH)

frefaRaa amel § t@iford 9al | Tehld-Scadl sl SSehd A1 U Hieh 3rad

3R foepeui @ & g fafaw | (Faet =) 9 )

Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from the

options given below. (Only four questions)

(%) SfaTieeRM S + Y, Taeh! AYTTR s |

(@)

(i) PHHM:
(i) PHHTT
(iii) PHTIHTAT |

S Alfeheh: SHFgR: Y 3GHA: Wald |

(i) < +3h
(i) <M + 3%
(iii) % +TqY |

Ix4=4
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() ferprfy: s T+ qEA |
G)  TiideIm
(i) T
(iii) TS |
(F) T UEq + < 9d Tgpaid |
(i) Had™
(i) HIH
(iii)) #Hacd |
(&) ifteht frehe-shigmam Feret + ag e |
(1) T
(i) puel
(i) R |

A9 J&: 9a: Areauiae hedl 4ifcigd darg 3: fored |

oW1 # QU U Wi i HERAT § Ao UREdd i gY MEaRgd §a1G

EET:%TF@QI

Re-write the following dialogue changing the voice with the help of words

given in the box.

e — W | foh cd gra: Youeareq 3fssfy 2
T — M | BT 9Td: gs=ared (i) |

> o

ITUT: — Tob ] arfesn ==ty ?

W — M ! (i) arfeeht fi=a |

31eu; — foh gan foramer Tesfd ?

™ — 31 | gER (iii) T |
HsTHT

foranmere,  Seofierd, @ |

AAAT (OR)
ATARGATT ATRITT ITAURE F&a |
frefaRaa aret o ar=g-afEdy i |
Change the voice in the following sentences.
(%) o 9IS YSfd |
(@) e e foead |
(

) HFeh: HE HUM |

Ix3=3

Ix3=3
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FIfIRgaiGT=aET RReMT Shraslgeheee: [&d | (had Teagsead)

frfefad feg=m § T Taml i qfd hraeies Seg) 9 i |
(hadt IR )

Re-write the daily routine using words in place of figures.

(Only four questions) éx4=
(%) IEUEHA e goeol s3Iy |
5:00
(@) — aTed Feafshan grareanty |
(M 9T Ared I U |
5:45
(=) o e IFITER T UM |
() omfwmmem _ dmed Moo |
7:00

ITIfIRgaaTey FEae T Hesumed: 3fd: STe™de: I@d |

(I TSI

fraferfea et # Tk Tt i qfd oo # fou T st wgl % g i |

(et IR J)

Fill in the blanks in the following sentences with appropriate
indeclinable words given in the box. (Only four questions) 1xd=4
(%) T e AfE |
(@) ehl: __ UTGehegehd shIS |
(M) SEW__ gy wfe, q WH: s |
(b@) wAfg= Tauisherst: Temfuarsie |
(¥) wHseHm__ sty ?

HesHT

3R, o7, Fa:, Td, I

10
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IrIfIRaqarey W@TigaueH TEgH e | oT3[g Ug wuned g: fo@a |

CESR G L)
freferfaa arert o t@iferd Ug T3 B | Mg IS I Tfea o g forfau |
(et IR )

Correct the underlined incorrect words in the following sentences.
(Only four questions) 1x4=4

%) dTeTeR! 918 Y3 fd |

9) @ 9 T8 |

(
(
(T) &I HAT: gt |
(") fa: g9 Hivar afesafq |
(&) feteht shrgeh: shifesAd |
wQvus: ¥ (SECTION D)
qfSa-Eaaiyq (Ufed-Taaie)

Reading Comprehension 30 A
FYIfIRad TeT JfScan JEaueHM ST HEehad for@d |
frefaRaa meme =1 gt fou TT WAl o 3T wha # faRev |
Read the following prose passage and answer the given questions in
Sanskrit. 6

TEEEIE § dlfgaqen: fefeeg @ ofed | R | sEgven
I | 35 AifgaTa: gy 3fd HRIa | o7 3Tk gt Teerty 21y
Tfed | TEHTh TATINTA SRR huTfoad gEaT g afecan A
T TRt | TAw g Trun e gdd | hRishueg gHfvad: |
TAYHIG, 3Tl THSIME: |

(31) THUeH U@ | (had TRAGIH)
T &g § IR AT | (et & T)
Answer in one word. (Only two questions) I1x2=2
(%) TEFUSY HET: IPHEA T=Ad ?
(@) oEdraq gHfveaa: add ?
() TS O foRH S 2

11 P.T.O.
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C)

PUEIERE 3T | (el JTIHRH )
qufarer § 3 S | (e T )

Answer in a complete sentence. (Only one question) 2x1=2
(%) hYT G TEYUI AT TqAd ?
(@) wfagEea = o fawre sehifsrar 2

o o M o e
Jeafeasheu: 3ty I Fcar forad | (et Tee=Idsea™)
fou MU foemedt § @ 3faa IR e foafaw | (e wR 99A)

Choose and write the appropriate answer from the given

options. (Only four questions) éx4:2

(%) “Hawan” 3fd wguee foh fohamde mamsr Ty ?
(i) S
(i) Fad
(iti) A=

(@) “Cdwm” sfd FEEIG A TYHH, ?
(i) TATEI:
(i) IGTTHEAA:
(iii) PUSH:

(1) “sHepT” 3fd 4G Hea yewy fasom ?
(i) SEPUSH
(i) T
(iii) TIWH

12
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(") ‘“avErg 3cad fob wHTIL 9g TR ?
() g
(ii) oFeEAT
(iif) =T

() ‘e’ 3 vew foetmag & ey 2
) g
(i) 3™

(iii) 9o

AYARG T&I IfScal AT 3TN Fhad for@d |
ffafaa war =1 gt feU 7T oAl & 3T w&ha | fofen |

Read the following poetry passage and answer the given questions in
Sanskrit. 6

IS Ha1 5@, @ o JUIRHUT |
Tg feRa rean |rggia auTeRd ||

(37) UHUCH ITA | (Shadd IIgIH)
T Ieg H I AT | (e qF T)

Answer in one word. (Only two questions) 1x2=2
(%) urfuATsa wel foh wafd 2

(@) &9 g@ wafd ?

() S T guTERd ?

13 P.T.O.
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C)

QUIATRM ITA | (had TeTHRH)

quiare § I ENT | (had T TRA)

Answer in a complete sentence. (Only one question) 2x1=2
() ‘oI FaT g @ wald $id e HId: I ST=RUl At ?

(@) <: feeraR foh saeay 2

Jedtasheu: 3faaq I Tocar fofegd | (had Teadsey)
feu v foepeut # & 3fa W g fafan | (et ar w9 )

Choose and write the appropriate answer from the given

options. (Only four questions) éx4:2

(%) ‘gEn s facimug o Ty ?

i) guIR
(i) gEH

(ifi) &g

(@) ‘wHo seae TR fomm 2
i
(i) T
(iii) ‘qua’ f

() ‘wwrRd st fRamaeE Fug R 2

(i) THE:
(i) g
(iil) Ig:

14
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(F) ‘e i Uee qae b SR ?
G <
(i) Taq

(ii1) &I

(F) ‘quasHm’ s faemag R 2
(i) ey
(i) HIfUE™

(iii) g:@Hq

ARG AT IfScal TEqTRAHH 3TN F&ha for@d |
ffeTiaa JTersr i dgeht feU 7T T < 3T’ 66ha | fofan |

Read the following drama passage and answer the given questions in

Sanskrit. 6
Feh: — L WA ! I q9 Feald T ey dfe i W Ut ? 31a: o1gHa
THEUTIL: TIATHTS hTeh: |
TSgd: —  WI=d 99y | 3TgHa FRefitfaasht aferon e |
b — foreh, oA | oTeRa TEREEMT: | (qq: wfawifa wehfawma)
TRid: —  (FEH) IO 1 W A | 318 Tid: TI AR ST | g
g9 Td 79 TR | savee e fawd Jueme | |4 T oo

AT | 7 qTEd heAed 999 g1 a9 | fafaeen @ A Seq =
W Heead |

15 P.T.O.
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(31)

TehYCH ITA | (Shad Te-gIH)

T 16 H IR G | (Shaet g IH)

Answer in one word. (Only two questions) I1x2=2
(%) fusea wafd &: qre™fd ?

(@) : e Trefifaady’ sfa weafa 2

() SATCHH ‘FEUTH: ferEmTe 3fd *: HeRfd ?

UiaTeRA A | (hadd TTTHEY)

UiaTeR § I AT | (hadl Th T9)

Answer in a complete sentence. (Only one question) 2x1=2
(%) wd: T HET: MAT Fdd ?

(@) 99 g1 %Y T IR ?

Yeafaeheur: fuaq I facan for@d | (Shaet Teeagsedn)
fou mu foshedt § @ 3faa I e fafaw | (ae =m ww)

Choose and write the appropriate answer from the given

options. (Only four questions) éx4=2

(%) ‘et 3fq we favmoy ?
(i) dwP™
(i) hTRET
(i) ToTEEE

16
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(@) ‘sreud GERRMEN: | 37 38y’ 3 FamIe Hed T ?
() ToEEE
(ii) &Pl
(i11) <hThTA

(M) ‘owewy’ 3fd uew g T ug ATt Wy 2
(i) @
(i) goHTHH,
(iii) forer:

(F) ‘|d: T H MAT I W HAAHIG HEH TIHH_ ?
(i) e
(i) TSEE™

(iii) Sepedt

(8) ‘urcrnfy’ framuees wqug fopy 2
(1) ©hlh:
(i) TrEE:
(iii) 3189

@ITEAUeTH MY TRAMAT $H&d | (had TeA=ged)
Eifehd Iei o MR W YA fwfor HIfSw | (haet ) 7o)

Frame the questions on the basis of underlined words. (Only four
questions) I1x4=4

()  =ifcpet: Ty STHgE fedrea Tafd |
(i)  TERfd: HaH SaH Ted gl |
(iil) TGl HETHRAS 371 AT |
(iv) —=oad H: WA a% wafd |

(v) ITEY g@q e |

17 P.T.O.



15. Tesmd: ggfaauer faean stenfafadveninat: o= gwod |
HoST § § Hqfd UG g (HTIRga §7971 Tailehi o 3T i U1 hIT |

Complete the prose order of the following fwo shlokas by choosing the
appropriate words given in the box. L 8=4

(%) 3ashar g1 fad qon arfa wag I | ’
qGATg: HRTCHH: HwcaiHid qeaa: ||
HaY: —
PRIRCSHE) aen Afg arfa (i) | (iii)
qeuq: ded (iv) 3 AR |
(@) WO Ha qTd o W |
3SHE WTeraed ANy faerma: ||
HAY: —
qrd | -G AU (1) T T (i) IENLGE
(iii) 9 Td (iv) |

LS

qucay, HETCHM:, od, STashdl, Thedd, 316, WYY, & |

16. ATARGAHT HIAH TYfad WG foeheussr: Tocar fofad | (Shae Teadses™)
frtcfigd oMt o1 Fqfaa wia fashedi # & I faRae | (had 9r T9)

Choose and write the correct gist of the following sentences from the
given options. (Only four questions) I1x4=4

() wHEH Eve: ‘WreEd: fay: = |
() REd
Gi) T
(iii) Y&d:
52 18
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‘T AT A ARSI |
(i) AYgIH

(i) 7Y

(iil) ST

: Fe W1 <T5hH, TeidaT |
() '\
(i) e
(iii) U

T, TR _ |
(i) EHEEY
(i) oI&dd:

(i) GegEIT

TAET g |
(i) T
(i) oI
(iii) wfeafor

19
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Instructions :

. STufSATY - s, (ST - STaee )
SECTION A :

. TEFTCHERRIAY (TEHTeHeR T )

SECTION B :

Unseen Reading Comprehension

Writing Skills

. STTIIHEATRH (ST TR
SECTION C :
. ufSq- gy (afed-sraste)
SECTION D :

Applied Grammar

Reading Comprehension

(i) @ Y93 TeR: GUST: di |
5G yT-97 H AR @S & |

The question paper has four sections.

(ii) TRF @S ST I G T I G |

URIF GUE ¥ I UF & 58 W AT 8 fora 8

The answers to each section must be written at one place.

(ili) ST FATATAR TR AT |
YT~ & SR T -GET] S & [era] & |

10 A=

15 A=

25 ASn

30 H=

Write the question number according to the question paper.

(iv) T AT I G G |

T} 7 & I dewd 4 [y |

Answer all the questions in Sanskrit.
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@Ue: ‘&% (SECTION A)
ST - SraaerH (rufeaior—sraaie)
Unseen Reading Comprehension 10 HFT:

HHIfTRIaH 1= Tfdea YEayeTT, ST Heh foraa|
frferfiaa srgeae i vea fau 7o g i & 3o aepa § fafau |

Read the following prose-passage and write the answer of the given

questions in Sanskrit.

TG I - i -IRg - e - iR -awa” 3fd wg e wafk | g
qE: U FAA| T TG T AW W sEfd)| qa 9 =JE
wafd | 8= 51 Tl Il W - OIed: gifcehicaaye | 9= ga7 A
ﬁaﬁiﬂﬁﬂﬂ%‘ﬁf: ferferererdt, @@Eﬁﬁq@%ﬁmml AHgH
hlfehere WYLedt: Tt S, SRR | Fel T s wafd| T, 9, |
IAH:, FEN: ¥ THE AR JA T G U Fd: T T iR :
FEYT WO T = Wantafd | o9 Wepfd amm: | ;
() UHYH I | (Al JEIIEaH) ‘/2><4=2E

TF ve2 H IW T (Faet TR 9w

Answer in one word. (only four questions)

(i) FgOS: F: F2Id7

(i)  YRaaN id Fad: waf?

(i) 5= S fopaq wafa?

(iv) 98- 999 &: wafd?

C(v) ATHIE S U Telq S AT ?

(9) qoiETeH 3utd | (had T5EaY) I x2=2
quiaTERy H IR ST (Fee < g



Answer in a complete sentence. (only two questions)

() o= = TgE! Jeqa! Hed:?

(i) G FEATHf: gl gwd?
(iii) @ Feq: a1 At ?

(@) ARSI 3| (Shaed TeTEEaT) 1 x4=4
fréargaR I AR (sheret =T 59)

Answer according to instructions. (only four questions)
() ‘qum:’ 3fa e Fque Y
() T (@) () =
(i) =R T e wHTTe UE foh g
(&) fafaeadh: (@) Fam: (1) g
(i) ‘srferery’ 3fr we foreimTe R SR ?
(%) =M (@) 9] (1) T
(iv) ‘“wd o el wafd| o7 faore foh s ?
(%) & (@) T, () AT
(v) ‘g kg I ‘ay.’ 2fd TS R T
(%) Scga™@ (W) YFA (1) FE=T
(3) TR ST=DeE Fd I Y Hehd forad | )
70 g o foTg I St Hepa A faran |

Write the appropriate title for this passage in Sanskrit.

@ue: ‘@ (SECTION B)

TEATETREHTAH (TEATeHS —hT)

Writing Skills 15 A
5 g o ST 4 T oft stehfRad v wes-NewTe: TR qer
7 ferad| Vax10=5

oo T BT 2| 36 g e @ frd o Reffea o wse A
170 grsai S TETEdT ¥ qul o 38 g fafau)

=
4
[=

3

52/1 4



Complete the following letter, written by Sanjay to his father, with the

help of words given in the box and rewrite the same.

fawm<-gEEE:,
& RECACICEUIGH
fams:
e (1)
e JOTHT: |
3 (ii) qATEq | 38 T e (i)
afqafs ag wfed 98 o wwmeamd Jafa: wieeen s s
(iv) ST | AT Y|t S -wearal faareEe:
v) ISR | 37d: 378 (vi) el
eI 4 WA "E (vii) FewE, ATl T
(viiy — wfersafa | wigEReEn: w9 (ix) EEEsiel
T4 (x)
[SESIPH

TRy, Jcaeadey  oifaues:, FEE, I,
g, fqreiear:, 98, Jumesiel: JeTEEHTE: |

3. u: Yod 9§ gual WoGuEl YeMvIsSM WIERAH U4 Al WEhdd
foraa| 2x5=10
¥
oA

52/1 5 [P.T.O.
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= fow v fomr =1 aoiw wes A fiw M wreal Y TR § uiE @%hd el
H #hIfT |

Describe the following picture in five Sanskrit sentences with the help of
the words given in the box below.

faferean, Scaeydeq, RmE:, Ia@w, aoE:, S
JAEATI: , STEATIIHRT, J&T:, faepaf=q, goaifor, =&, =)

T (OR)

qes[uTyeTRIsel ArerH Frefafad fawm sftger wsafy: gwepaa:
TS ATwe o |
Wﬁﬁmﬂ@ﬁmﬁﬁﬂﬁmﬁwmﬁﬁwmﬁ
T g faf)

Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box.
'H?\'Wﬁl:
HISRT
HSSHMI, e, Tooi:, |Y:, goi:, Wafd, T, §9d:, qY=i,
T, 3ufawif=, yamE:, GRf, graf, @9, Jes:, vaid, aee:, @l

==




52/1

@ue: ‘1’ (SECTION O)

W(Ww)
Applied Grammar 25 AF:
aeiffaaarRy @ifEauey wf gfede a1 ol foeal (e
YHAIETH) 1 x4=4

St art § Taitea val § oty sven afv-fese w fafaw)
(e 91 99H)

Write the underlined words of the following sentences after joining or
disjoining Sandhis. (only four questions)

(i) FriEH adl g+3Tmad |
(if) e e wrgeefd|

(iif) Mﬁﬂﬂl

(iv) TET+3f: arewifen: THEO T
(v) TR Sfie e T |

Ay Yt e R @ e e e
EESRLEEREREY | x4=4 ‘I
Srfafag e § TaEifed gat # aue stuan faue fa T faewedt @ @ t
e forflau)| (et =) 99) i
Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences. (only four questions)
(i) = 3 T 4 ———=ft wed|

(=) erIret, (@) vae: (1) S
(i) TofyrEEd gEm: | '

(%) A g aw: 9 (Q) Rt e sw = () 3T st
(iii) fomd|: 7t M|

(%) fazrn A (@) feram: €M (1) faern €:
(iv) = ffee= v

(=) foea: s (@) frermm e () Fared st

5 ExE
O Qi



52/1

(v) TR Eesser |

() @@= e, (@) @=s o], (1) = Seiq.
HefeRaqearRy WfEauem JHfaye gaed fawsy a1 3fuaq 3w
et foean forad | (e Tvageay) 1 x4=4

frferftaa ameil 3 Tarfed el % Sehfavcaal il Sigst I Yo &k 3fed
I el # @ e foafiau) (Shaer =Im we)

Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from
the options given below. (only four questions)

(i)  TTOrST: TOEH, SATH|

() TUI+HgY (@) i+ngy () T+
(i) 3¢ aTgaH T+ S|
() Tl (@) T=3q (1) TG

(ili) TSI sEgal qidae|

(%) TE+TAq (@) TB+qgd, (1) UG+
(iv) ‘Todear 5T Hel+3% FrfereRm: At |

() HTh: (@) wifereh: (1) Ao
(v) sfereR fomme Tesfdl

(%) snfeTe:+S (@) dAH+2 () STesh: +8TY

AR T Hosur e Ue: areadiEdd He 3 fore| 1x3=3
eNffaa gae 1 Heswn ¥ faw e sredl i FEET ¥ ared giEdd Fd g
dare 1 g fafam|

Re-write the following dialogue changing the voice with the help of

words given in the box.

e - 5 = gepay ST ?

BE: - A, HAT () |
fiaes: - o war AeTRay wefa?
BE: - AW, (i) — HeWRd 94|
[%E
B
8
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forerer: - T o it smges wafd

BE: - A, 7 AGER: (iii)
aka Al
gAd, HEFAH, T
Fa (OR)
ayeiferRaam s areaufEdd $Ed|
frfafaa am # areaiEd i)

Change the voice in the following sentences.
(%) o fermed Teai|

(@) B o)

(M) T e TR

seiferRaa — et eI SepamTesashTee: Td|

CESRREERERLY)

seiferfag et # b Tt i 9fd depa FeeidE weal § il

(hae 9T I

Rewrite the daily routine using Sanskrit words in place of figures.

(only four questions)

(i) 372 GEH 4.30 A& FreTi|
(i) 5.00 aTEH TSRO TTeY, ATT=s1H |
(i) 7.15 9@ IS |

(iv) 9.45 & iy e FH
‘(v) 10.00 & IE HUH

FefifefiaaaTa R wesmE: 3fd: IR T |

(Fae TEEgETH)

|
I
|
V4ix4=2 {
|

1x4=4

EHE

A
[P.T.O.



Freaferfiaa aril # oo Tl 1 o Tea # R Ty st W@ ¥ AT
ST (Faet =’ 991)

Fill in the blanks in the following sentences with appropriate
indeclinable words given in the box. (only four questions)

(®) — Jun: W2

(@) g °n T

() TISIT AT 77

() T 3: 9 |

(8) — i U= WA o ad: |
Ilo_u-ESlT

Iof1, TRt I3, w9, g

10.  refcTidaTeRry Efsauer, STeH, A& | 313E e weier 3 foram)
(hael JvT=gEay) 1 x4=4
Freferfa et o Taiferd oe o1ers #1 1ype e 1 wvifa w0 ;- R
(et =T 9%)

Correct the underlined incorrect words in the following sentences. (only
four questions)

(%) A Hehaq T |
(@) Sy fade: i)
(1) fRrareh: BEM U yeAf=|
(|1) = qedtees et |
(&) 391 v&: v Aferaq|
@vs: g’ (SECTION D)
ufsa—sraanemy (ufed-sraatam)
Reading Comprehension 30 3T3T:

11. uﬁ%ﬁammmmﬁm%@m

[=
E 4
[EE o

s

52/1 10



farerferRar e 1 YgeRt fT e e & ot wep § frfee
Read the following prose passage and answer the given questions in
Sanskrit.
9 IS TdEES WAl higd: HfTad, AT Y&d FEEdan] - 1
STETHT: | T AR fad m shew? afE wiveg md gaq afe ® feskere
spen Forl wete aTgwe ¢ g 4 HiTed IES: Aeh: - “arfa
St | 72 afd w0 wadt gud ufersd SR FUAN T S!S 39
St ¢
(31) TR ITd| (el TIEIH) {x2=2
U 967 § I I | (e & TH)
Answer in one word. (only two questions)
(=) & =M Y& Hear !
(@) e g fawd Avt hief< w7
(w)aﬁﬁ{ﬁmﬁa:%wﬁimaﬂm? b
() qofare 3 | (e e Bxt=D
ot o H 3 AR (Sherel Tk 9) |
Answer in a complete sentence. (only one question)
() <t hige! AT shied: STeteh, STIvIarH? |
(@) Jeve: wT: iR Sred’? |
(@) veatre: 3y I fan fored | (Fad SeagEam) Vox4=2
far mmu fyeredi # & 3fera 3w g fafan| (et <11 )

Choose and write the appropriate answer from the given
options. (only four questions)

() ‘e’ 3fq foramues wdue foR?

(%) (@) st EIGED
(i) “puem” s o T T SR 7

() #reRt (@) goor (1) T
(i) Ay TS I TYHH

() TR (W) STeteh v (1) TRT:
oho
oA
52/1 1 [P.T.O.
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(iv) *eve: arer: o ok ferdroraes arfe?

(%R) 3eve: (@) sTeTh: () forererTs:
(v) ‘@ st fuee fhame 7
(%) 399 (@) s1aedH, (1) e
aeifrfiad T e eI STl Gepae forad| 6

Srerfarfiad va i TeeRt 2T T e % I Hepa | fafeu|
Read the following poetry passage and answer the given questions in
Sanskrit.

F1eTg afd GHE: TR ;|
wfasiemg e gigmemeoafal |
(31) TR JRd | (et SOTEEH) 1x2=2
e Ted § I AT (A 2 ) -
Answer in one word. (only two questions)
(%) shrenq o wafa?
(W) WS AT YoreEfe ?
(1) @RI, foh Wafd ?
() qofaTRA 3T | (Fae STHRH) 2x1=2
qufarea # 3w AT (et TF TH)
Answer in a .complete sentence. (only one question)
(%) gfgaT: e Hafd?
(@) TTE: HaT SITd ¢
(@) eafEes: 3 I e foed| CEERIEEREEEY Yyx4=2
forw T foreedt © & S See g frfan | (Sheret = W)

Choose and write the appropriate answer from the given options.
(only four questions)

; () ‘st sfafsramree Fque 67

EIEICE (@) wafd ()
(i) ‘Fregfe:’ sore foemye foh sgewa
(%) ‘wfa’ 3l (@) faym: (1) =T
' I
P
12
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(iti) wfd’ vreawy atag & wemy?

(%) wwiTe: (@) gf&’ sfd () wgfer:
(iv) “wwre:’ sfosdue foramd forg?
| (%) shiermg (@) soreafa (1) waifa
(v) ‘wifede:’ sead & gumres ue v ?
(%) e (@) g rE: (1) wgfay:
Srenferfled Tt qfSen SaauwE, S s forad| 6

e foral Areare #t wga faw U ywHt o I wepa § fafau)

Read the following Drama passage and answer the given questions in
Sanskrit.

s - (Rl ol wrar: | S st T SER Targ W)

et~ e aew! faseht v | age: 9 wnf: swag) (e frtssfy,
Sfipeur: TS Te wfewrfa|) _

ofigpeor: - ot | eeios! el 7 id waar| G finde: e
AT B, SAfremata)

IR - | @ g TR T S ate|

AFor:- e | 7 STl A, F0: =er gy fig: Somg s smifw:
T 7% ferrd % UTed | AfE o 9gsaq, el ges @ v |

(31) THFTeA I | (Pt TITEEH) [x2=2
e ¥Teq § I IS (et 3 ) '

Answer in one word. (only two questions)
() Tuq: Sroma w5 m 31 Do o R
(@) ‘= 7 d waar 3fd shgon: & ufq suafy?
() e e qRiY: wfersfa?

(3) qofarerR 3| (Shael TvTiy) 2x1=2
qufarerr & Ia SR (Sheer Th 9) |
Answer in a complete sentence. (only one question)

(F) 9 1, st gfeifi: srgafd a=aq?
(@) afe sfir: 3 wg=ua afe 5 wrq?

=]
3
=

S E
o B

13 [P



(@) T weafaehensr: 3 I foe o (et JEqEad)  Vax4=2
few o farered & & 3fra St g faftaw) (sheret = wre)

Choose and write the appropriate answer from the given options.

(only four questions)
() ‘erfremafy’ st e wdue 6 ?
() “fie: (@) oo () IR
(i) ‘vt 3fd v fomwora fehm?
() Ro: (@) =9, () eI,

(iif) ‘a3 e e SR ? .
() oo (@) RTgET™ (1) @
(iv) ‘T’ sfer ol we foh s

(%) Te (@) ara (1) Ty,
(v) ‘gaeireteae: i e femorey st
(o) e (@) = () Hrepore
14. Y@TfEauar e FeAtmiv ged | (Feaet TeAEgE) il

Yaifd wel % R W e Fwtor fifsw)| (e = Tw)

Frame the questions on the basis of the underlined words.
(only four questions)

G)  @rp Sfar fE 7 ST |

i) e e i = ad il

(i) ToTEH: 1 A Yo S wafdl
(iv) T g et e Tt

(v) e S wEre

15. ST feraE fee, sreferRad veireRa: 31 | . 2+2=4
o i & wgfir g8 et Ffad S gt 3% 1 QO T

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box.

52/1 | 14
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(%) fagmw SArohsfaH =rggsA=d: yehifear: |

AN T A g I T A
T -
e (i) faga: waygs=: i),
39T Fe A (=) (i) gEgIER (v |
(@) o TeSTeR: A AT T = |
| 9 Fatefed FH @ W: Harfd = ||
HET: -
T (i) S W (i) = F=B(d,
4 (iii) R (iv)— %4 7 I

HSI[AT
w, ¥, wehifar:, e, gar, sftaw, e, Fay

sreferfaamT oA G are fascds: fomn foed| (Fae SeTageem)
freferfad wurt & wafea wa-faed # @ g fafe| (e I’ )

Choose and write the correct gist of the following sentences from the
given options. (only four questions)

(i)  Fad Fehad THEdHH: |

(%) |a (@) fm (1) s,
(i) o g &)

(%) T=BT (@) Fe (1) <R
(iii) oo wrean 3em: fohaam

() 3@ (@) ge4q, (1) e,
(iv) THE TTE AT AT

() == (@) i () gEH,
v) ‘W!qwﬁmﬁ@r:m@

() 3T, () T (1) =hife,

15

Yax4=2
Vox4=2

1x4=4

L




